S 5F4A18 SF5E5R1H
AQA ] = HHFH AQA ] = HEHH
wBEXEM | 37,681 18,636 19,045 15, 647 wBEXEM | 37,633 18,616/ 19,017 15,665
K= Hhig 23,825 11,7021 12,123 9,939 K= hizf 23,794 11,686 12,108 9,938
LI 75 Hhiz 5,284 2,639 2, 645 2,230 LI 75 Hhiz 5, 268 2,630 2,638 2,232
EfNihisg 2,74 1,415 1,326 1,136 EfNihisg 2,735 1,413 1,322 1,135
&)1 Hhisg 2,810 1,440 1,430 1,154 &)1 Hhisg 2,864 1,435 1,429 1,152
fENEIT L b 35 2,961 1,440 1,521 1,188 fENEIT L b 32k 2,972 1,452 1,520 1,208
SF5E6R18 SF5ETA1H
AQA ] = HHH AQA ] = HEHH
wBEXEM | 37,554 18,577 18,977 15,633 wBEXEM | 37,531 18,580 18,951 15,636
K= Hhiz 23,762 11,673 12,089 9,927 K= Hhiz] 23,752 11,676 12,076 9,933
LI 75 Hhiz 5, 251 2,619 2,632 2,228 LI 75 Hhiz 5, 240 2,620 2,620 2,226
EfNihisg 2,738 1,416 1,322 1,137 EfNhisg 2,730 1,415 1,315 1,136
&)1 Hhisg 2, 851 1,430 1,421 1,148 &)1 Hhisg 2,853 1,430 1,423 1,147
fENEIT LI b 32 2,952 1,439 1,513 1,193 fENEIT LI b 32 2,956 1,439 1,517 1,194
S 5E8A1H S 5E9IA1H
AQA ] = HHFH AQA ] = HEHH
wEEXEM | 37,469 18,5411 18,928 15,626 wBEEXEM | 37,419 18,5211 18,898 15,620
K= Hhig 23,716] 11,652 12,064 9,930 K= Hhiz] 23,717 11,657 12,060 9,938
LI 75 Hhiz 5,232 2,613 2,619 2,224 LI 75 Hhiz 5,222 2,608 2,614 2,221
EfNihisg 2,725 1,413 1,312 1,135 EfNhisg 2,713 1, 406 1,307 1,134
&)1 Hhisg 2, 841 1,424 1,417 1,142 &)1 Hhisg 2,829 1,419 1,410 1,137
fENEIT L b 35 2,955 1,439 1,516 1,195 fENEIT LI b 32 2,938 1,431 1,507 1,190
SF5£&10818 SH5FE11/818
AQA ] = HEH AQA ] = HEHH
wBEXEM | 37,400 18,5211 18,879 15,636 wBEXEM | 37,332 18,474 18,858 15,609
K= hiz 23,698 11,651 12,047 9,930 K= Hhiz 23,666 11,624 12,042 9,915
LI 75 Hhiz 5, 226 2,608 2,618 2,230 LI 75 Hhiz 5,216 2,604 2,612 2,230
EfNihisg 2,706 1, 404 1,302 1,134 EfNihisg 2,702 1,402 1,300 1,133
&)1 Hhisg 2,823 1,416 1,407 1,136 &)1 Hhisg 2,826 1,419 1,407 1,144
BN L b 32k 2,947 1,442 1,505 1,206 BN L b 32 2,922 1,425 1,497 1,187
<f5%12A818 SF6E1/18
AQA ] = HHFH AQA ] = HEHH
wBEXEM | 37,272 18,453 18,819 15,600 wBEXEM | 37,194 18,407 18,787 15,578
K= hiz 23,631 11,609 12,022 9,904 K= Hhiz 23,612 11,599 12,013 9, 905
LI 75 Hhiz 5,207 2,601 2,606 2,225 LI 75 Hhiz 5,184 2,588 2,596 2,218
EfNihisg 2,694 1,398 1,296 1,131 EfNhizg 2,684 1,393 1,291 1,129
&)1 Hhisg 2,819 1,419 1,400 1,142 &)1 Hhisg 2,804 1,411 1,393 1,140
BN L b 32 2,921 1,426 1,495 1,198 BN L b 32 2,910 1,416 1,494 1,186
S 6&E2R18 SF6&£E3/1H
AQA ] = HHFH AQA ] = HEHH
wEEXEM | 37,190 18,417 18,773 15,607 wREXEM | 37,119 18,388 18,731 15,606
K= hiz 23,634 11,622 12,012 9,938 K= Hhiz 23,583 11,592 11,991 9,927
LI 75 Hhiz 5,178 2,586 2,592 2,217 LI 75 Hhiz 5,163 2,579 2,584 2,215
EfNihisg 2, 691 1,394 1,297 1,132 EfNihisg 2,679 1,390 1,289 1,129
&)1 Hhisg 2,791 1,405 1,386 1,138 &)1 Hhisg 2,782 1,400 1,382 1,137
fENEIT L b 32 2,896 1,410 1,486 1,182 fENEIT L b 35 2,912 1,427 1,485 1,198




